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QUESTION 1

Virtualised computing resources are delivered dynamically. What does this mean? 

A. The resources are delivered with very high throughput. 

B. The resources are delivered only when they are needed. 

C. The resources are delivered with very low CPU utilisation. 

D. The resources are delivered with no storage requirement. 

Correct Answer: B 

 

QUESTION 2

Which of the following is a greenhouse gas? 

A. Methane. 

B. Argon. 

C. Nitrogen. 

D. Helium. 

Correct Answer: A 

 

QUESTION 3

Which of the following activities would make data centres more energy efficient? 

a.

 Consolidate resources onto a smaller number of servers. 

b.

 Position servers as close together as possible. 

c.

 Replace old CRT monitors with LCD displays. 

d.

 Retire all unused and unnecessary data storage capacity. 

A. 

a, b and d. 
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B. 

a, c and d. 

C. 

b, c and d. 

D. 

b and d. 

Correct Answer: B 

 

QUESTION 4

Which of the following is a stakeholder in a Green IT programme? 

a. 

Government organisations. 

b. 

Suppliers. 

c. 

Company shareholders. 

d. 

Employees. 

e. 

Religious organisations. 

A. 

a, c, and e. 

B. 

a, b and c. 

C. 

a, b c, and e. 

D. 

a, b, c and d. 

Correct Answer: D 
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QUESTION 5

What is the benefit of creating virtual servers? 

A. To increase the number of PCs connected to the server. 

B. To reduce the power needed to run the server. 

C. To permit the server to power down when not in use. 

D. To allow better use of the server capacity.To allow better use of the server? capacity. 

Correct Answer: D 
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